
ATTACHMENT
HARDWARE

NOT BY VMC

(1 7/8)

(1)

STEEL CABLE
SEE NOTE 3

LOOP CABLE
UNDER & AROUND
HEAD OF BOLT

3/4" HEX HEAD BOLT
3/4" FLANGED NUT

(1/4)

SB-250 BRACKET Ø15/16" SLOT
EQUIPMENT ATTACHMENT

(45°)
NOM.

EQUIPMENT

ATTACHMENT
HARDWARE
NOT BY VMC

BUILDING
STRUCTURE

(3/16)

UL RATED
COLOR CODED CABLE
SEE NOTE 3

OVAL SLEEVE
PRESWAGED

Ø3/4
CEILING ATTACHMENT TYP.

(45°)
NOM.

VIEW B-B

VIEW A-A

(60°)

(3)

FM RATED
SB-250 BRACKET

15/16

Bloomingdale, NJ, USA

PREASSEMBLED
BRACKET

Ø13/16 HOLE FOR ANCHOR TYP.

PROPRIETARY: EXCEPT AS OTHERWISE AGREED IN WRITING, THE INFORMATION AND DESIGN DISCLOSED HEREIN ARE THE PROPERTY OF THE VMC GROUP AND MUST NOT BE COPIED OR DISTRIBUTED OUTSIDE THE VMC GROUP EXCEPT TO AUTHORIZED PERSONS WITH A GENUINE NEED TO KNOW
WHO BY THE USE HEREOF ACKNOWLEDGE THE VMC GROUP'S OWNERSHIP AND AGREE TO MAINTAIN THIS INFORMATION AND DESIGN IN STRICT CONFIDENCE.

MODEL SB-250-LRC 4020 LBS.
1/4 INCH BLACK SEISMIC CABLE

RESTRAINT KIT

OTHER MATERIALS, COMPOUNDS, OR FINISHES WITH EQUAL OR SUPERIOR
PROPERTIES MAY BE SUBSTITUTED AS THEY BECOME AVAILABLE.

NOTES:
1. BRACKET MATERIAL: COLD ROLLED STEEL
2. HARDWARE & BRACKETS ELECTRO ZINC PLATED
3. EACH KIT CONSISTS OF:

QTY (2) 1/4" BLACK CABLE W/ BRACKET
PRE-SWAGED,
QTY (2) SB-250 Ø15/16" SLOTTED BRACKETS WITH
EACH BRACKET ASSEMBLY COMPRISED OF (2) 3/4"
BOLTS & (2) 3/4" SERRATED LOCK NUTS.

4. FIELD TORQUE 3/4" LOCK NUTS TO 50 FT-LBS.
5. FM APPROVAL APPLIES ONLY TO INSTALLATIONS

USING STRUT OR ANGLE.

SB-250-LRC-610 10

SB-250-LRC-607 7

BLACK

MAX. TENSION
ALLOWABLE (LBS.)

15/16" SLOT / 13/16" ANCHOR BRACKET

A. RATING AT 45º FOR STEEL ATTACHMENT (LRFD) - 4020#
B. RATING AT 45º FOR STEEL ATTACHMENT- 3/4" HILTI TZ @3-3/4" EMBEDMENT, 6" SLAB MIN - 3000#

BLACK

3000 OR 4020

3000 OR 4020 15/16" SLOT / 13/16" ANCHOR BRACKET

CABLE LENGTH
(FT.)

Bloomingdale, NJ 07403
Houston, TX 77041SALES ORDER:

CUSTOMER P.O.:

CUSTOMER :

JOB NAME:

CERTIFIED FOR:

REVISION

SHEET:

DRAWING NO.:

SCALE :

NONE


	JOB NAME: 
	REV: 
	SALES ORDER: 
	CUSTOMER: 
	CUSTOMER PO: 
	DWG: 
	sheet 1 of 2: 1 OF 2
	BY: 
	DATE: 
	DESCRIPTION: 


